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56 (Conversion cm-m) Paper 1  Name:      
 

 
1. Sam is 178 cm tall. Toby is 0.12m taller than Sam. How tall is he? Write 

your answer in the space below in meters. 
 

____________m 

 

 
2. John is 165 cm tall. Gemma is 0.09m smaller than John. How tall is she? 

Write your answer in the space below in meters. 
 

____________m 

 

 
3. Ruth is 173 cm tall. Jennifer is 0.04m taller than Ruth. How tall is she? 

Write your answer in the space below in meters. 
 

____________m 

 

 
4. Grace is 143 cm tall. Barney is 0.2m smaller than Grace. How tall is he? 

Write your answer in the space below in meters. 
 

____________m 

 

 
5. Clare is 156 cm tall. Derek is 0.3m taller than Clare. How tall is he? Write 

your answer in the space below in meters. 
 

____________m 

 

 
6. Jen is 181 cm tall. John is 0.41m smaller than Jen. How tall is he? Write 

your answer in the space below in meters. 
 

____________m 
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7. Michael is 1.65m tall. Ruth is 32cm taller than Michael. How tall is she? 

Write your answer in the space below in centimetres. 
 

____________cm 

 

8. Derek is 161 cm tall. Grace is 0.21m taller than Derek. How tall is she? 

Write your answer in the space below in centimetres. 
 

____________cm 

 

 
9. Jennifer is 1.92m tall. Isla is 12cm smaller than Jennifer. How tall is she? 

Write your answer in the space below in centimetres. 
 

____________cm 

 

 
10. Barney is 78 cm tall. Sean is 1.02m taller than Barney. How tall is he? 

Write your answer in the space below in meters. 
 

____________m 

 

11. Toby is 163 cm tall. Sophie is 0.9m smaller than Toby. How tall is she? 

Write your answer in the space below in meters. 
 

____________m 

 

 
12. Gemma is 1.71m tall. Lilly is 26cm smaller than Gemma. How tall is she? 

Write your answer in the space below in centimetres. 
 

____________cm 
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Answers 

1. 1.9m 

2. 1.56m 

3. 1.77m 

4. 1.23m 

5. 1.86m 

6. 1.4m 

7. 197cm 

8. 182cm 

9. 180cm 

10. 1.8m 

11. 0.73m 

12. 145cm 


